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1. Which lawn tennis player holds the record for winning the most Grand Slam tournaments in men's singles
competition?
1) Rafael Nadal
2) Novak Djokovic
3) Roger Federer
4) Pete Sampras

2. Recently, the Different Global Navigation Satellite System has been launched. What is it called?
a) Sagar Rakshak
b) Sagar Viman
c) Sagar Sampark
d) Sagar Sambandh

3. Consider the following countries:
1) Kazakhstan
2) Turkmenistan
3) lIraq
4) Uzbekistan
How many of the countries given above border the Caspian Sea?
a) Only one
b) Only two
c) Only three
d) All four

4. Consider the following countries:
1) United States of America
2) Russia
3) China
4) Japan
5) India
6) Israel
How many of the above-mentioned countries have successfully achieved a soft landing on the moon?
a) Only three
b) Only four
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c) Only five
d) Allsix

5. Which of the following sets of pair(s) is/are correctly matched?

PPP Model Features

1) Hybrid Annuity Model (HAM) The private player is responsible to construct and hand over the roads to
the government which will collect toll.

2) Build-Operate-The private bidder is supposed to build, maintain, Transfer Toll Model (BOT-TOLL)
operate the road and collect toll on the vehicular traffic.

3) Engineering-Procurement-Construction Model (EPC)Maintenance, operation and toll collection is the
government’s responsibilities.

Select the correct answer using the code given below:

a) land2only

b) 2and 3 only

c) land3only

d) 1,2and3

6. Which of the following measures can be taken by the government to control inflation?

1) Import of goods which are in short-supply

2) Tighter monetary policy

3) Reducing excise and custom duties

Select the correct answer using the code given below:
a) 1and3only

b) 1and 2 only

c) 2and3only

d) 1,2and 3

7. Consider the following statements ‘Cord blood banking’:

1) Cord blood banking involves taking the umbilical cord blood, which is a rich source of stem cells, and
preserving it for future use.

2) Stem cells in cord blood can be used to strengthen the immune system during cancer treatments.

3) Stem cells from cord blood can be given to more people and are less likely to cause rejection than those in
bone marrow.

How many of the statements given above is/are correct?

a) Onlyone

b) Only two

c) Allthree

d) None
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8. Which of the following statements best describes the concept of a circular economy?
a) Itis a system where waste materials are disposed of in landfills, minimizing their environmental impact.
b) Itis an economic model that promotes a linear flow of resources from extraction to disposal.
c) Itisan approach that aims to minimize waste and maximize resource efficiency through the reuse,
recycling, and regeneration of products and materials.
d) It is a strategy that focuses on increasing resource consumption and maximizing economic growth.

9. Which of the following measures help in making a smart city?
1) Efficient urban mobility and public transport.
2) Health and education
3) Assured electricity supply
4) Rooftop solar power generation
Select the correct answer using the code given below:
a) 1,3and4only
b) 2and 4 only
c) 1,2and3only
d) All of the above

10. With reference to ‘economic reforms in India in 1991°, consider the following statements:
1) They were launched in response to a situation of hyperinflation.
2) The period preceding the reforms were marked by an increased growth rate.
3) Second gulf war was one of the reasons behind the crisis that led to the reforms.
Which of the statements given above is/are correct?
a) 1land2only
b) 2 and 3 only
c) lonly
d) 1,2and 3
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